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regression analysis. Based on the results obtained
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MTB > NAME Cl='X' C2='Y’

MTB > SET ClI

DATA> 1.5 1.0 2.8 0.4 1.3 2.0
MTB > SET C2

DATA> 3.6 2.8 5.4 1.9 2.9 4.3
DATA> END

MTB > BRIEF 3

MTB > REGRE C2 1 CI

The regression equation is
Y= ? + ? x

Predictor Coef Stdev
Constant 1.2595 0.1484
X 1.48256 0.08830
s = 0.1638 R-sq = 98.6%

Analysis of Variance

t-ratio p
8.49 0.001
16.79 0.000

R-sq(adj) = 98.3%

SOURCE DF SS MS F P
Regression 1 7.5610 7.5610 281.90 0.000
Error 4 0.1073 0.0268 :
Total 5 7.6683
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